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(2) G3AH2AEFE, 24, HE 5 =2

Residuals:
Min 1q Median 30 Max
-4.400 -1.762 0.025 1.587 4,200

coefficients:

Estimate std. Error T value pri=|t])

(Intercept) 37.6500 2.9961 12.566 1.20e-08 w==

x1 4.4250 0.3011 14.695 1.78e-09 W=

X2 4.3750 0.6733 6.498 2.01e-05 ==
signif. «codes: 0 “®*%' Q.001 *'*=! Q.01 **" 0.05 *." 0.1 °
Residual standard error: 2.693 on 13 degrees of freedom
Multiple R-squared: 0.83521, Adjusted R-squared: 0.9447
F-statistic: 129.1 on 2 and 13 DF, p-value: 2.638e-09
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Residuals

Standardized residuals

Residuals vs Fitted
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Residuals vs Leverage
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Shapiro-Wilk normality test

W = 0.97585, p-value

A 2 A= A9, B8, 5874, =244
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